SRER ARE A& 5 AE
50,000 6,800 8,1600M
=< (---------""———"—-"-""—"\"—-""-""—"\“—\—————————= WO TH 7L —ATE
55,000 (Ftir) 7,480H] (F#52) 89,760 (%i:A)
20,000 6,800M 8,1600M N
EHeg 2 02— BEEARR 24 fE
= WD THTL—HHE
22,000 (Ft:A) 7,480 (%52) 89,760 (Ftir)
20,000M 5,300 63,600
N )bl{_A': ____________________________________ GSEHJ:G)ji
v =H WD THLTIL—TT8E
22,000 (%t3r) 5,830 (F#52) 69,960 (Fi:2)
20,000H 5,300 63,600
,v sj 7“,&. =2 o e e ————— e —_,_,—_,—_——,,, 29%.’521&{1‘0)75
=R WD THTL—TT8E
22,000 (Fi52) 5,830 (Fit52) 69,960 (Fi52)
20,000 4,800 57,600
THLE ____Fj__________T_____________Fq _______ FHOHTL—AThE
=R (X-B-H%xkO
22,000 (%tir) 5,280H] (F#5A) 63,360 (Fitir)
30,000H 4,800H 57,600H o o
3 11— I Syt R NN N —— SEDCRENDH
o> WD THTIL—aIRE
33,000 (FtsA) 5,280 (%52) 63,360 (Fitir)

/\4{[

DL L EBEIWEETET,
39 HDERR6 AN E T LD TEBXWEBELELET, ZOE

©20214F1HXY, AFNIFERL, OE5 2% ELEIETWAEEETT, H2— 7 v b XHhnic
Zuy bFEEIS 501 (BUA) BunEt b ¥4, OO 2% e L CHESEY

fEcio TG A R, OIF I Tz 23000M 07 = 2% (B 2, @ v\/xyzﬁlfﬂf**l‘z‘?%# LEFEd., Ofkariz, 1,100 (BhA) e b 9, OB
RBEOHARE, WO TARERMEL RV £, OF 4 X —AKIL. +4 X —R550M (Blr) 2L AV T, O—EFIDCHWLZREDILVELIEE L2 E
TOT, TTHRLSETV, XERRAETHICO 2 E L CIRE30MNE2 &2 £ T,



